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7A28(H) BER
A—ILX
HERS AN ZUR (A)
RIGUE FADS = = ¥
1 09:00~ | RLEELF vs HELZ | FADD vs
2 10:20~ | FCE%E vs FHIO—3| #FLK vs
3 11:40~ |BHHR=—% vs FAMS |FBRIO—7 vs
4 vs vs
5 vs vs
6 vs vs
7 vs vs
8 vs vs
XAKED)—T Q05 N\—) BT . LUEF—LOWHEICKY. ILUR)—TyF 1T, (155 X 1K)
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A—ILX
HEsE BEYYHh—I SR (H)
RIGUE ESR=— = = H
1 09:00~ | FADS vs FREIO—3| LEELF vs
2 10:20~ |BBHR=—% vs HEELF |BFHEIA—F vs
3 vs vs
4 vs vs
5 vs vs
6 vs vs
7 vs vs
8 vs vs
KOARBD—T (207 N\— TR BERF—LOBEBICKY., ILUF)—IvFEITI. (1553 X 1K)
9828 (1) B dh{EMA
A—ILX
HERS LERINET SR (A)
RIGUE HELK = ¥ = H
1 09:00~ | FCEE vs FADS | #EDK vs
2 10:20~ |BEEIO—7 vs HELEL | FADD vs
3 vs vs
4 vs vs
5 vs vs
6 vs vs
7 vs vs
8 vs vs
XAKBD)—T Q03 N—)RT &, BZF—LDOGEICEY. ILUR)—IUFZETI. (155 X 1K)
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E EL EflBIA—7 = ¥ = ¥
1 09:00~ Vs vs
2 09:50~ vs
3 10:40~ FE1~5HEEFTa=7)—YU-10IcTHEA vs
4 11:30~ vs
5 12:20~ Vs vs
6 13:15~ | FAMDD vs HEhE [FHIO—3 vs
7 14:35~ |BEBR=—4% vs EHIO—5| #Ebk vs
8 vs vs
MARED—YT 203 N\—) T %, BEHF—LDOBEICKY. TILUR—I9FEITI, (155 X 1K)
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RIGHE BER=—% ¥ B ¥
1 09:00~ vs vs
2 09:55~ vs
100 F1~4REFT2=T)—JU-121CTHEA I
4 11:45~ Vs vs
5 12:45~ | HEBELF vs FCEE |BBHR=—% vs
6 14:00~ | #EDb%K vs BER=——%4| FCEE vs
7 vs vs
8 vs vs
KOAKXED—T Q0N\—) 8 T#H. BEZF—LOWBEBICKY. ILUF—TVFE(TI, (1550 X 1K)
108158 (8)
A—ILX
EEN=E=3: FII SR (B)
SELE FCE%E = ¥ = ¥
1 09:00~ vs vs
2 09:55~ Vs
3 10:50~ FE1~5RABET2=7)—JU-120cTHEA vs
4 11:45~ vs
5 12:40~ Vs vs
6 13:45~ | FADS Vs HEBELF | FCEE vs
7 15:00~ | #EDK vs FCE%E | AL&ELF vs
8 vs vs

XNAREDY—T Q00 /N\—D)ETH, BE&F—LDHEIZKY. TILUR)—IVF%F

172, (1597 X 1K)




BiEx 20174H—-/LXJ—JaiH8

108228 (H) BERER

A—ILX
HERS AN ZUR (A)
RIGUE HEBELF = = ¥
1 09:00~| FCEH%E vs BER=—% NEBELF vs
2 10:15~ |F@EIO—5 vs HEBELF |[BEBR=—% vs
3 vs vs
4 vs vs
5 vs vs
6 vs vs
7 vs vs
8 vs vs
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